
 

 

vPˆvir  JEE (MAIN) p(rximi> smg\ Birtmi>Y)  ni[>wiy[l (vwiY)< s>>²yi an[ 

JEE Advance  miT[  kT ai<f mikˆs {% mikˆs} an[ liyk k[T[gr)viez  (vwiY)< s>>²yi 

 

S]x(Nk vPˆ 
k&l (vwiY)< 

        liKmi> 

JEE Advance miT[ 

ps>d Yy[l (vwiY)< 

kT ai<f mikˆs {% mikˆs } 360 mikˆsmi>Y)  an]  (vwiY)< s>ˆ²yi 

simiºY vg< Si.S].pCit an&s*(ct ji(t an&s*(ct  jn ji(t 

2015-16 11.94 2,00,000 
100  (27.77 %) 

1,01,000 

70  (19.44 %) 

54,000 

52 (14.44 %) 

30,000 

48 ( 13.33 % ) 
15,000 

2014-15 13.03 1,50,000 
105  (29.16 %) 

75,750 
70  (19.44 %) 

40,500 

50 (13.88 %) 

22,500 

44 ( 12.22 % ) 
11,250 

2013-14 13.56 1,50,000 115  (31.94 %) 

77,543 
74  (20.55 %) 

41,879 

53 (14.72 %) 

23,343 

47 ( 13.05 % ) 
11,267 

2012-13 14.0 1,50,000 113 (31.38 %) 

75,238 
70  (19.44 %) 

41,213 

50 (13.88 %) 

23,953 

45 ( 12.5 % ) 
11,947 

 

vPˆvir   JEE (MAIN) p(rximi> g&jritmi>Y)  ni[>wiy[l (vwiY)< s>>²yi an[  

JEE Advance  miT[  liyk t[mj IITmi> g&jritmi>Y) p\v[P s>B(vt (vwiY)< s>>²yi  

S]x(Nk vPˆ 

k&l (vwiY)< 

{smg\ Birtmi>Y)} 

liKmi> 

JEE Main miT[  

k&l (vwiY)< 

{g&jritmi>Y)} 

JEE Advance miT[ 

ps>d Yy[l (vwiY)< 

{g&jritmi>Y)} 

IIT p\v[P miT[ 

s>B(vt 25000 (vwiY)< 

{g&jritmi>Y)} 

s>B(vt (vwiY)<n) 

yid)  p\miN] 
p\v[P liyk (vwiY)< 

2015-16 11.94      

2014-15 13.03 1,02,000 6347  (6.86 %) 350 193 81 

2013-14 13.56 79,707 6245   (7.83 %) 672 359 107 

2012-13 14.0 96,000 7435  (7.74 %) 421 217  

 

JEE Advance  miT[  liyk t[mj g&jritmi>Y) IIT p\v[P s>B(vt s[ºTr viez (vwiY)< s>>²yi  
S]x(Nk vPˆ p(rxi  k[ºW amdivid s&rt vDi[dri rijki[T 

2013-14 
JEE Advance miT[ ps>d Yy[l (vwiY)< 2852 1675 1071 919 

IIT p\v[P s>B(vt (vwiY)< 363 175 154 62 

2012-13 
JEE Advance miT[ ps>d Yy[l (vwiY)< 4490 1900 1282  

IIT p\v[P s>B(vt (vwiY)< 280 98 121  

ni[>w : j[ t[ vPˆni upl¾w JEE r)pi[Tˆsmi> upl¾w (vgti[ aiwi(rt  ai mi(ht) C[. 

 

C[Ãli k[Tlik vPi[<Y) kh[vit) kºs[¼T Ak*li[/Ty&Sn klisni JEEni nim[ mik[<T)>g Wiri  (vwiY)<[/miti-(ptin[ C[trvini w>wi krt) kºs[¼T Ak*li[/Ty&Sn klismi> p\v[S 

l[ti ph[li tmim vil)(m#ii[n[ ai mi(ht)ni[ smjp*vˆk a¿yis kr) aipNi biLkn) xmti p \miN[ yi[³y SiLimi> p\v[P m[Lvvi aY[<. 



 

 

JEE (MAIN ) – 2015 mi> g&jritmi>Y)  tmim bi[D ˆni t[mj r)p)Tr (vwiY)<ai[ni p(rNim sm)xi 

 
360  mi>Y) 

m[Lv[l mikˆ 

{ % } 

 

342 
(95% Y) 

vwir[} 

324 
(90 % Y) 

vwir[} 

306 
(85% Y) 

vwir[} 

288 
(80 % Y) 

vwir[} 

270 
(75 % Y) 

vwir[} 

252 
(70 % Y) 

vwir[} 

216 
(60 % Y) 

vwir[} 

180 
(50 % Y) 

vwir[} 

126 
(35 % Y) 

vwir[} 

100 
(27.77 % Y) 

vwir[} 

(vwiY)< s>²yi 1 2 10 25 58 116 371 972 3701 7245 

k&l 1.02 liK 

(vwiY)<mi>Y) % 
0.00098 0.00196 0.0098 0.02450 0.0568 0.1137 0.3637 0.953 3.628 7.103 

prsºTiel 

r[ºk 
99.99991828 99.99771174 99.99043836 99.97540124 99.94344737 99.88632268 99.63575859 99.04628734 96.37147884 92.89692466 

 

g&jrit bi[Dˆ micˆ – 2015 mi> l[viy[l p(rximi>  

g(Nt, Bi](tk (vXin, rsiyN (vXin (PCM)mi> (vwiY)<ai[ni p(rNim sm)xi 

PCM 
300  mi>Y) 

m[Lv[l mikˆ 

{ % } 

285 
(95% Y) 

vwir[} 

270 
(90 % Y) 

vwir[} 

255 
(85% Y) 

vwir[} 

240 
(80 % Y) 

vwir[} 

225 
(75 % Y) 

vwir[} 

210 
(70 % Y) 

vwir[} 

180 
(60 % Y) 

vwir[} 

150 
(50 % Y) 

vwir[} 

105 
(35 % Y) 

vwir[} 

83 
(27.77 % Y) 

vwir[} 

(vwiY)< s>²yi 161 1104 2619 4679 7215 10121 18133 29992 54418 62442 

k&l 64,653 

(vwiY)<mi>Y) % 
0.249 1.71 4.05 7.24 11.16 15.65 28.05 46.39 84.17 95.58 

prsºTiel 

r[ºk 
99.75142686 98.29192762 95.94922997 92.76221688 88.84059379 84.34544722 71.95289608 53.60986515 15.83091472 3.41892210 

 

ni[>w : j[ t[ vPˆni upl¾w GSEB r)pi[Tˆsmi> upl¾w (vgti[ aiwi(rt  ai mi(ht) C[. 

C[Ãli k[Tlik vPi[<Y) kh[vit) kºs[¼T Ak*li[/Ty&Sn klisni JEEni nim[ mik[<T)>g Wiri  (vwiY)<[/miti-(ptin[ C[trvini w>wi krt) kºs[¼T Ak*li[/Ty&Sn 

klismi> wi[rN 8 Y) 11mi p\v[S l[ti ph[li tmim vil)(m#ii[n[ ai mi(ht)ni[ smjp*vˆk a¿yis kr) aipNi biLkn[ tNivm*±t riK)  xmti p\miN[,yi[³y 

SiLimi> p\v[P m[Lvvi aY[<.  

>a[vi li[ki[n) siY[ rhi[ j[ tmirimi>Y) ~[Oqti bhir liv[, a[vi li[ki[Y) d*r rhi[ j[ tmirimi> min(sk tiN liv[ 

 


